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lznaGbL b/efpkq cfJxfgsf] ;"rgf 
 

-bf];|f] k6s k|sflzt ldltM @)&^.)(.)& 

 o; ufpFkflnsfsf]  gjlgld{t :jf:Yo OsfO{ s]Gb| tyf dlxnf ;fd'bflos ejg / j8f sfof{nox?df 

kmlg{r/ tyf kmlg{l;+ª ;fdfu|Lx? lznaGbL b/efpkqsf] dfWodåf/f vl/b ug{ k|yd k6s ldlt @)&^.*.!( 

df  !% lbg]] ;fj{hlgs ;"rgf k|sfzg ul/Psf]df tf]lsPsf] cjlwleq lgodfg';f/sf] lznjGbL b/efpkq 

k]z x'g gcfPsf]n] OR'5's kmd{, sDkgLx?nfO{ l/tk"j{s lznjGbL b/efpkq k]z ug'{ x'g k'gM bf];|f]k6s & 

lbg] ;fj{hlgs ;"rgf k|sflzt ul/Psf] 5 .  
 

 b/efpkq g++ M )%.@)&^.)&& 

 sfdsf] ljj/0f M kmlg{r/ / kmlg{l;Ë ;fdu|Lx? ;KnfO{ ug]{ sfo{ . 

 b/efpkq vl/b b:t'/ M ? !))).)) -sfof{nodf gub hDdf ul/ jf s'df/L a}+s a'ªr'ª zfvfsf] sf]if 

vftf )*!))#%!@$())))! df hDdf  ul/ ;Ssn} ef}r/ k]z ug]{ . 

 b/efpkq;fy hDdf ug'{ kg]{ w/f}6L /sd M ? $%,))).)) -o; sfof{nosf] gfddf s'df/L a}+s a'ªr'ª 

zfvfsf] w/f}6L vftf )*!))#%!@$^))))! df hDdf  ul/ ;Ssn ef}r/ jf o; sfof{nosf] gfddf 

dfGotf k|fKt a}+saf6 hfl/ ePsf] &% lbg Dofb ePsf] a}+s hdfgt kq k]z ug'{ kg]{5 . 

 b/efpkq vl/b ug]{ clGtd ldlt M @)&^.)(.!#  

 b/efpkq btf{ ug]{ clGtd ldlt M @)&^.)(.!$ ut] lbgsf] !@M)) ah] ;Dd . 

 b/efpkq vf]Ng] ldlt M @)&^.)(.!$ ut] lbgsf] )!M)) ah] . 

 b/efpkq btf{ u/L vf]Ng] :yfg M l;4n]s ufpFkflnsf a'ªr'ª, wflbª . 

 b/efpkq k]z ubf{ sfof{noaf6 k|dfl0ft ul/Psf] kmf/ddf cfjZos ljj/0f el/ lznaGbL ul/ k]z ug'{ 

kg]{5 . 

 b/efpkq :jLs[t ug]{ gug]{ clwsf/ o; sfof{nodf ;'/lIft /xg]5 . 

 b/efpkq kmf/ddf pNn]lvt kl/df0fdf yk36 ug{ ;lsg]5 . 

 b/efpkqbftf jf lghsf] k|ltlglwsf] /f]xj/df vf]lng]5 t/ b/efpkq bftf jf lghsf] k|ltlglw pkl:yt 

gePdf klg b/efpkq vf]Ng s'g} jfwf kg]]{ 5}g . 

 b/efpkq ;DaGwdf o; ;"rgfdf pNn]lvt s'/fx? o;} adf]lhd / o;df pNn]v gePsf cGo s'/fx? 

;fj{hlgs vl/b P]g @)^# / ;fj{hlgs vl/b lgodfjnL @)^$ -kl5Nnf] ;+zf]wg ;d]t_ tyf cGo 

k|rlnt P]g lgod adf]lhd x'g]5 . 

 b/efpkq ;DalGw cGo s'/fx? a'em\g k/]df sfof{no ;do leq sfof{nodf ;Dks{ ug{ ;lsg]5 . 
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